BC Calculus – FDW 3rd Edition – Section 5.3 Even Answers

Quick Review 5.3

2. cos x   4. cot x   6. ln(x)   8. 
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Section 5.3

2.(a) 2  (b) 9  (c) -2  (d) 1  (e) -6  (f) 1   4.(a) 
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6.(a) 6  (b) 6   8. 
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, hence 
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10. 
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   12. -3/2 at x = 
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   14. 1 at x = 0, x = 2

16. 
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   18. 0   20. 1   22. 1   24. 9   26. 32   28. 
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   30. 
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38. Max/Min Inequality for integrals:
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40.(a) 300 miles  (b) 8 hours (c)  37.5 mph  (d) avg speed
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42. ½   

44. Dangerous Merton Rule (for averages) works for lines! 
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 (just add and divide by 2)

46. False. 
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, but f(-3) 
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48. D   50. C   52. k = 2.39838 

Quick Quiz – Sections 5.1 – 5.3

2. B   4. 
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         (a)  To find the integration constant, C, use mt = 4 when x = 0 or 
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                Now repeating the process…  
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 and 
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      C = -5, 
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         (b)  Finally, we can obtain the AV(f(x)) = 
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